



**Montrez tous vos étapes!**

$\frac{-2 \times 4 + 18 \div (-3)}{-8 + -6} = \textcircled{-14}$	$7 + 3(7 - 2) + (-5)$ $7 + 3(5) - 5$ $7 + 15 - 5 = \textcircled{17}$
$9 + (-5 + 2)^3 - 1$ $9 + (-3)^3 - 1$ $= 9 - 27 - 1$ $= -18 - 1 = \textcircled{-19}$	$\frac{-2 + 14 \div (-2)}{2^3 - 5} = \frac{-2 - 7}{8 - 5}$ $= \frac{-9}{3} = \textcircled{-3}$
$\frac{2}{3} + \frac{1}{4} \times \frac{5}{6} = \frac{2 \times 8 + 5}{3 \times 8 \quad 24}$ $= \frac{16 + 5}{24} = \textcircled{\frac{21}{24}}$	$\frac{2}{5} \left( \frac{1 \times 2 \quad 5}{3 \times 2 \quad 6} \right) \quad \frac{2}{5} \left( \frac{2 - 5}{6} \right)$ $= \frac{2}{5} \left( \frac{-3}{6} \right) = \frac{2}{5} \left( -\frac{1}{2} \right)$ $= \frac{-2}{10} = \textcircled{-\frac{1}{5}}$
$\frac{-\frac{4 \times 4}{7 \times 4} + \frac{1 \times 2}{4 \times 2} - \frac{1 \times 14}{2 \times 14}}{28} = \frac{-16 + 7 - 14}{28}$ $= \textcircled{\frac{-23}{28}}$	$\left( -\frac{2}{3} \right) \div \frac{1}{2} + \frac{3}{4}$ $-\frac{2}{3} \times \frac{2}{1} + \frac{3}{4} = \frac{-4 \times 4}{3 \times 4} + \frac{3 \times 3}{4 \times 3}$ $= \frac{-16 + 9}{12} = \textcircled{-\frac{7}{12}}$
$\left( \frac{2}{3} \right)^2 - \frac{1}{2} \quad \frac{4 \times 2}{9 \times 2} - \frac{1 \times 9}{2 \times 9} = \frac{8 - 9}{18}$ $= \textcircled{-\frac{1}{18}}$	$-\frac{2}{9} + \frac{3}{4} \div \left( -\frac{1}{5} \right) = -\frac{2}{9} + \frac{3}{4} \times \frac{-5}{1}$ $= \frac{-2 \times 4}{9 \times 4} - \frac{15 \times 9}{4 \times 9} = \frac{-8}{36} - \frac{135}{36} = \textcircled{-\frac{143}{36}}$ <p style="text-align: right;">ou <math>\frac{335}{36}</math></p>
$\frac{3}{5} - 2 \times \left( -\frac{3}{4} \right)$ $\frac{3}{5} + \frac{6}{4} = \frac{2 \times 3}{2 \times 5} + \frac{3 \times 5}{2 \times 5}$ $= \frac{6 + 15}{10} = \textcircled{\frac{21}{10}}$ <p style="text-align: center;">ou <math>2 \frac{1}{10}</math></p>	$-\frac{2}{5} + \frac{3}{4} \div \frac{2}{1}$ $-\frac{2}{5} + \frac{3}{4} \times \frac{1}{2} = \frac{-2 \times 8}{5 \times 8} + \frac{3 \times 5}{8 \times 5}$ $= \frac{-16 + 15}{40} = \textcircled{-\frac{1}{40}}$